153 A=1In (%) =1n(9) + In(e?) — In(10) = In(32) + 2 — In(2 x 5) = 2In(3) + 2— (In(2) +In(5)).

Donc A = 2In(3) —In(2) — In(5) + 2.

_In(20e®) _ In(20) +In(e3) _ In(22x5)+3 _ In(22)+In(5) +3 _ 2In(2) +In(5) + 3
~ In8) In(23) T 32 3In(2) - 3In(2)

C=In (“235") = In(v1350) —In(2) = %ln(l 350) — In(2) = %ln(Z x 33 x 52) — In(2).

Donc C = (In(2) + In(3%) + In(52)) — In(2) = 2 (In(2) + 3In(3) + 2In(5)) — In(2).
Soit C =~In(2) +2In(3) + In(5) — In(2) = —In(2) +-In(3) + In(5).

D =/In(e) + In (%) = V5 + In(40) — In(9) = V5 + In(2* x 5) - In(3?)
Donc D =5 + In(23) + In(5) — In(3%) = V5 + 31n(2) + In(5) — 2In(3).

E=In (g) +1n (‘:—5) = In(5) — In(3) + In(45) — In(e’) = In(5) — In(3) + In(3%2 x 5) — 7.

donc E =1In(5) —In(3) + In(3%) +In(5) — 7 = In(5) — In(3) + 21In(3) + In(5) — 7.
Soit E = 2In(5) + In(3) - 7.



